: ' PROFESSIONAL EXAMINATION BOARD
me@?S'OtﬂO' Group-4, Asstt. Grade -3 Stenographer , Stenotypist , Data
C ik et Entry Operator Combined Recruitment Test - 2018

board
28th 3yl 2018 09:00AM

Topic:- General Knowledge

1) As per National Crime Record Bureau, which of the following Indian states has the highest crime rate as in
20172/

YR SRTY ARG R (AR P15H RbTs SR F AR, T4 2017 H I=TaW URTY &2 fory Tsa |
i

1. Patna / UcHT
2. Bangalore / o Y

3. Mumbai / @EF
4. Delhi / feeett

Correct Answer :-

« Delhi/ fewit

2) Who among the following Hindi film actresses was born and brought up in Madhya Pradesh? /
fFafafea o 3 fra &) fvem AR &1 91 3R uTasT-utaor aeg ye=r o g U
1. Asha Parekh / 31T URW

2. Jaya Bachchan / ST d=d-

3. Nutan / Jd
4. Hema Malini / %'HT ATferT

Correct Answer :-

« Jaya Bachchan / ST I

3) Who won the ‘Ranji Trophy Championship’ in 2017-18? /
TUTSI STW AR 2017-18 H1 fra= sitar?
1. Tamil Nadu / df8c g

2. Vidarbha / fagf
3. Karnataka / W
4. Delhi / feeett

Correct Answer :-

« Vidarbha / fagyf

4) Madhya Pradesh is the___largest state in India in terms of geographical area. /



HIMfre &3 & dcH §, 99 US UIRd &1 JeQ TSI 7
1. 18t/ ggarn

2.2/ GIR
3, 37/ T

4. 4t /T

Correct Answer :-

5) Sushma Swaraj, the Minister for External Affairs in the present Union Cabinet, represents which
Parliamentary constituency in Madhya Pradesh? /

gﬁqﬂﬁuﬁﬁﬁwﬁﬁ%ﬂmﬁﬁmmﬁ,nmﬁmm &= &1 gfaffira st
1. Mandsaur / IIE@T

2. Khandwa / G&dl

3. Vidisha / fafe=m

4. Sidhi / et

Correct Answer :-

« Vidisha / aaQI

6) What is the motto of Madhya Pradesh Police? /
AR YT T <0 a1 (3MTe=f a1e) T 82
1. Shanti Sewa Nyaya / it a1 =g

2. Mridu Bhave Dhrida Kruthye / Hg uTa foraT @?1

3. Seva Suraksha Shanti / TaT GR&fT ifcl

4. Desh Bhakti Jan Seva / GXT Hfad oI ¥aT

Correct Answer :-

« Desh Bhakti Jan Seva / T Hfad o= 9dT

7) What is the objective of ‘Bharatmala’ project? /
“HRIHTAT TGS T ST T 32

1. Building highways / XTSTART! T fHT0T =T

2. Educating girl children / I} STferep1af oI fR1&M vam &=t
3. Connecting India’s rivers / HIRd @t Al 1 \_Sﬁ?::ﬂ

4. Electrification of all villages / Tt Tiial b faorant 13IE\J3'IT-|T

Correct Answer :-

« Building highways / TSI &1 fAwf0r e



8) What is the objective of the scheme ‘Nai Manzil’ of Government of India? /

YRA PR B I8 HT TS BT IS T 82

1. Building cheap houses for the poor in rural areas / grHior s?ﬂﬁ ERINEI KT fo T TR} 1 fAfor
2. Providing laptops to poor girl children / TR Ffei13f &) duery UgH &A1

3. Education and skill training for minorities / 3{eUERaTd| & forg fRrefm 3R Prera ufreror

4. Sending a satellite to Jupiter / W g IR 3UUe VST

Correct Answer :-

« Education and skill training for minorities / eS| o forg e 3R DI UFReor

9) The total number of villages in Madhya Pradesh are .
AU | Tid} P Pt G gl

1. more than 50000 / 50000 ¥ 3/

2. less than 40000 / 40000 ¥ HH

3. between 45001 and 50000 / 45001 3TR 50000 % T
4. between 40001 and 45000 / 40001 37 45000 P &

Correct Answer :-

« more than 50000 / 50000 ¥ 3{fdres

10) Which Indian was crowned as Miss World in 2017? /

o urdta &1 ad 2017 ¥ fay g3t (B 9e) & faara & wraren o1
1. Swati Muppala / wrfd HWcll

2. Sana Dua / g1 g3{T

3. Manushi Chillar / A8 feeR

4. Priyanka Kumari / pEal ?ﬂT\P[

Correct Answer :-

« Manushi Chillar / AT fereeR

11) Which Padma Vibhushan awardee classical singer is known as ‘Queen of Thumri’? /
o e fRRywor e R fasrar g MR # gust @1 I F T " S ST 2
1. Gangubai Hangal / TI"J,E'I’%c RS

2. Girija Devi / Ff &t

3. Lata Mangeshkar / €l TR

4. MLS. Subbulakshmi / TH.0H. JegaeHt

Correct Answer :-

« Girija Devi / IR &at



12) Gagan Narang is a distinguished athlete associated with which of the following sports? /

wfafRd Tyefie A AR Fefrfa A 4 fra @a A SqS gu e?
1. Boxing/ﬂaav_&lﬁﬂ
2. Archery/?ﬂ?.?ﬁﬂ

3. Shooting / ¥ ¢
4. Fencing / GNEIREIS]

Correct Answer :-

 Shooting / ¥ &

13) Approximately, of the people of Madhya Pradesh are officially classified as Scheduled Tribes. /

AA YT F AT AN b SRR dR W gfa senfaal & 0 § aiffed fear s 21

N
L | = [FER e [ e

4.

Correct Answer :-

| =

14) Who is the Minister for Women and Child Development in Madhya Pradesh? /
A o # fgern vd e e wf P 8

1. Archana Chitnis / 32T faef

2. Kusum Mehdele / H Hgad

3. Maya Singh /g

4. Yashodhara Raje Scindia / gRNeRT ot Rifea

Correct Answer :-

« Archana Chitnis / 32T faefg

15) In which of the following cities of Madhya Pradesh is the Lakshmibai National Institute of Physical Education
located? /

e i 3 AR wredt & & et wertars it TmORe Rian T fm &
1. Sagar / 9TR

2. Indore / 3@?



3. Bhopal / HTOTd
4. Gwalior / TR

Correct Answer :-

« Gwalior / TTferIR

16) The objective of ‘Sambal Yojana’ announced by Government of Madhya Pradesh is to provide: /
ALY TRPR GRT NG Tad G &1 324 Y UeH $A13:

1. Loan waiver for farmers / f&THI & forg w01 wc

2. Food for all citizens of the state / IoT &b JH ATTRD] & 1%1? o

3. Free or subsidized electricity / JUd T SIS SICINACEI

4. Free education for all children / F4} S/ & ferg 1 3[eep fRram

Correct Answer :-

« Free or subsidized electricity / U IT Hiodal dTel! fasTelt

17) ‘Azim Premji Foundation’ has set up in three districts of Madhya Pradesh, namely Bhopal,
Khargone and Sagar. /

;ﬁﬂwﬂmﬁm@mﬁ'%qmm%mw,mmaﬁ?wwmﬁ?ﬁﬁ P RITYAT B
|

1. Hardware Manufacturing Units / E@’CR ﬁﬁtﬁ'UT qﬁ'c’ (%13%11? ﬁ@ﬂaﬁﬂ aaﬁ?)
2. Teachers Learning Centres / 1&g S bl (’cﬁ?‘lﬁ At m

3. Software Development Centres / AIHedR favr bl (HTCE%CR SEREE @Eﬁ)
4, Skill Development Centres / DI fIbrg FHal (f\‘%b_d SaquHc ﬁ?ﬁ)

Correct Answer :-

o Teachers Learning Centres / fRrefes 1T sl (’Cﬂﬂﬁ qf @?ﬁ)

Topic:- General Hindi

1) ga & forg wE Af fawde =t gfwl
1. Q:IETJHQH
2. Yal+ud
3. 9q+dd
4. 9a+1d

Correct Answer :-

o HqHud

2) Ui HTAEAr & A U T R A AP AR
1. 3G



3) AN W WA FTHHED 39 GeTa? &1 3 g Rea A3 s e
1. 3T HTH - FHx feamT

2. YT BT F fe@mT

3. QYT BT T R feamT

4, FUT B B fg@mT

Correct Answer :-

. 3OHT HTH FR @M

4) <RoP ¥ fore we) vataard) ard T o ufd @ g
1. 1YY, IS0, dd1d
2. 3THY, &, dd1d
3. 3HIHY, &1, d1dd
4, HYY, &, ddId

Correct Answer :-

5) «3FT-3AT el BT 39 YeTak &1 o g e A A P ATR?
1. Sgd BH Yl

2. §gd Y =T W

3. §gd dic o

4. TG Y ST

Correct Answer :-

. g U Wl

6) RreRY & forg Tt wafgard arat wreat & dfda &t g
1. T1EP, e, e

2. 9%, Tel, 3RAch

3. 1%, 376X, 3D

4. YT, Tel, ATH

Correct Answer :-



7) Hef & forg Wt Wi fadg &1 9wl
1. HET+3BY
2. Oel+B
3. AE+3B N
4. Alg+BN

Correct Answer :-
. TE+BN
8) ‘TS P TUNAA AP
1. THI
2. TR
3. Ul
4. U

Correct Answer :-

9) PAB-HTP A T T AeHar it - # g § § o1 91 sdeprR 82
1. JHS AAPR

2. XY 3{ABR

3. 3JUN 3PR

4. SUHT 3[ABR

Correct Answer :-

« JH® AABR

10) G P Wield fbvd wf safiEm @k | - # g 3 | #1991 seeR 82
1. JHD ADR

2. T SADBR

3. 3UTY 3fefPR

4. JUHT 3APR

Correct Answer :-

11) LY BT JE IS g Fa A A= are?
1. S AW



2. 38 MW
WS AW
4. WS H fm®w

Correct Answer :-

. TR P TR

12) <3P IUWT A T ¥k FH A A BT A2
1. TSl

2. 3fRad

3. 3ot

4. TSI

Correct Answer :-

13) ‘HIH@ &1 9 & F S a1 9 faed 2 32
1. HHY
2. HUTT
3. W3R
4. HOR

Correct Answer :-

14) fp Ui AT U< T T AP ITR?
1. Faia
2. T

3.9
4.9

Correct Answer :-

15) T &1 9 ® I S 91 T8 ey wsg 32
1. 3T
2. SFTHA
3. ST

4. 3{THA

Correct Answer :-



16) CANCELLED

S AT A A 9P & ol 0 g Fru A A p AT R?
1. 3ORfad

2. ORI

3. YT

4. MUY

Correct Answer :-

17) 3 B I BIY, S P A T

Yol plisa TR fFal SR & -AFfmAIFTaT
1. Y

2. IR

3. HYHh XY

4. A5

Correct Answer :-

. AHE ™

Topic:- General English

1) Choose the correct form of tense for the given sentence:
My father _ every morning in the fresh air.

1. was walking

2. has been walking

3. walks

4. will walk

Correct Answer :-

o walks

2) Spot the error in the given sentence:

The young boy broken the window by hitting it with a cricket ball.
1. By hitting it
2. The young boy

3. With a cricket ball



4. Broken the window

Correct Answer :-

» Broken the window

3) Select the suitable conjunction to complete the sentence:

Piyush played very well __ won the appreciation of all.

1. nor

2.0r

3.and

4. but

Correct Answer :-

o and

4) Choose the correct form of modal auxiliary verb for the given sentence:
Do you think we walk faster so that we reach the station on time to catch the train?
1. should

2. shall

3. would

4. can

Correct Answer :-

 should

5) Choose the most suitable prefix for the given sentence:
Stonehenge is a ___ historic monument located in Salisbury, England.
1. pre-

2. post-

3. un-

4. re-

Correct Answer :-

6) Choose the most suitable determiner for the given sentence:

Is there ___ letter for me in the bunch of letters you are holding?
1. either

2. every

3. any



4. each

Correct Answer :-

7) CANCELLED

Fill in the blank with the progressive tense (continuous tense) of the verb from the given options:
My neighbours us every day.

1. is troubling

2. troubling

3. are troubling

4. trouble

Correct Answer :-

e are troubling

8) Choose the appropriate preposition to complete the given sentence.
The cat jumped ___ the table.

1. at

2. off

3.in

4. of

Correct Answer :-

o off

9) Choose the appropriate verb to complete the given sentence.
We seem ____ a problem with the radio.

1. to having

2. to have

3. had

4. have

Correct Answer :-

 to have

10) Choose the option with the appropriate punctuation inserted in the given sentence.
Did you understand why I was upset

1. Did you understand? why I was upset?

2. Did you understand? Why I was upset?



3. Did you understand why I was upset.
4. Did you understand why I was upset?

Correct Answer :-

« Did you understand why I was upset?

11) Choose the correct form of verb that is in agreement with the subject:
I___ todance,butnowl .

1. was used, have stopped

2. was used, has stopped

3. used, have stopped

4. use, has stopped

Correct Answer :-
« used, have stopped

12) Give the noun form of the underlined word in the given sentence:
His generous will never be forgotten.

1. generosness

2. generosity

3. generousity

4. generness

Correct Answer :-

s generosity

13) Choose the appropriate preposition for the given sentence.
all the players, Kiran is the best all-rounder.

1. About
2. Of
3. Among

4. Between

Correct Answer :-

14) Choose the appropriate articles to complete the given sentence.

Mumbai is very costly place to live in. It is one of most thriving business centers in the country.
1. the, the
2. the, a

3.a,a



4. a, the

Correct Answer :-
e a, the

15) Choose the appropriate articles to complete the given sentence.

I have not seen Ravi since he was ____teenager. He is ____ honorable man.
1. the, an

2. a,an

3.a,a

4. an, a

Correct Answer :-

16) Choose the option with the appropriate punctuation inserted in the given sentence:
You need three documents your passport your driving licence and a bank statement

1. You need: three documents your passport your driving licence and a bank statement.
2. You need three documents your passport your driving licence, and, a Bank Statement?
3. You need three documents; your passport, your driving licence. and a bank statement.

4. You need three documents: your passport, your driving licence, and a bank statement.

Correct Answer :-
« You need three documents: your passport, your driving licence, and a bank statement.

17) Choose the option that best transforms the given sentence using a question tag:
They will meet us there,

1. they will

2.isn’t?

3. won’t they?

4. will they?

Correct Answer :-

e won't they?

Topic:- General Maths

1) There are some friends, all less than 20 years. When paired amongst themselves they realize that the sum of
their ages is a multiple of 5. If their ages are distinct prime numbers, then the number of possible pairs are: /

PO < g o | el 20 af A F 3Mg & B | 919 I U H g3 91 o1 ¢ af 3 JHSId @ fob 39t
3TY BT AN, 5 BT IV 81 i ITPT 3y Fiar SruTeg T=Te €, Y HHa oAl o IBm 8

1.7



2.5
3.8

4.6

Correct Answer :-

2) In a group of 35 people, 23 of them like coffee, 24 of them like tea and each person likes at least one of the
drinks. How many like both? /

35 A & Uh TG |, 23 HIB! UHG B 8, 24 TG THE P 8 3R TAP AR $H A FH TP UY UG Hdl
81 fa AT g1 99 U ovd &2

1. 12
2.35
3.47

4.6

Correct Answer :-

3) The sum of the two-digit number is 6 and the number and its flip (digits written in reverse order) both are
multiples of 3. If the difference between them is 36, then which of the following is the required number and its flip?
/

gfe qY-3iP! aTell TR F bl BT AN 6 8 MR T-AT 9 9@ Ty (I 0 § ford ofwp) a1 3 F Ui 21
gfe 3% dla &7 3iaR 36 B, ot Fufafaa & Q o1 I smazas e ik 3Tt fau 82

1.5lor15/519T15
2.420r24/424124
3.330r33/339133

4. 60 or 06 / 60 UT 06

Correct Answer :-

e 5lorl15/514115

4) The difference between two whole numbers is 110 and the numbers are in ratio 2:7. Find the sum of the two
numbers. /

<1 guf Temsit & o &7 3R 110 § SR WWA 2:7 & 3rgurd # &1 ST HBI3it BT 317 91 B |
1. 286
2.132
3.242
4.198

Correct Answer :-

« 198



5) If the LCM of two numbers is 288 and their ratio is 4:9, then HCF of the numbers is:/

gfe qY TESil &1 TYAH THTIG 288 § 3NR ITHT SIUTd 4:9 €, a1 YBT3 BT HgwH JHITH @
1.7

2.8

3.9

4. 11

Correct Answer :-

6) Find the solution of 5x-7=12 ? /
5x-7=12 T & JTd P32

1.4.8

2.1

3.3.8

4.2.8

Correct Answer :-

7) Which of the following is not a linear equation? /

frafafEa 4 @ o1 te e wfieo 78 32

3
2x——=25
1 X
5
(x—2)—=3—x
5 7 4
3
“(x—5)—10=0
3. %
X
L X—2 4

8) Complete the given series.
2,4,8, ,32/

& TS AT B R B

https://www.freshersnow.com/previous-year-question-papers/



2,4,8, ,32
1. 14
2.12
3.10
4. 16

Correct Answer :-

. 16

9) Factors of the polynomial x2-3x-10 are: /
9g9¢ 3x-10 & UGS

1. (x-5) and (x-2) / (x-5) T (x-2)

2. (x-5) and (x+2) / (x-5) Td (x+2)

3. (x+5) and (x-2) / (x+5) T (x-2)

4. (x+5) and (x+2) / (x+5) T4 (x+2)

Correct Answer :-

« (x-5)and (x+2) / (x-5) Td (x+2)

10) Ty, simplest form of f;ﬂ‘;

. T Had WA §9 & &

1024

is: /

15

1, 64

12

5 72

16

54

24
4, 62

Correct Answer :-



4.

12) The value of (247 +{-18F +{-6) is: /
(24F +(-18F +(-6) T AT &:

1. 7776
2.7796
3.7766
4.7786

Correct Answer :-

« 7776

13) If a=2#x3x5%: b=22x52 & c=33xx7, then HCF (a. b. ©) =7 /
iE a= 24x3x53; b=23x5? 3N c=33x52x7, G HCF (a. b, ¢} =7

1.75
2.200
3.25

4. 50

Correct Answer :-

14) 14 11

3 20
Arrange the following in descending order: 3 LR 5,? /

14 11 20

et @ satd w7 & cafewd &% 32, 7,5,5,2

11 14 .3 20

» =ty » »

L 2773747

14 11 0

_13_ !?!5!_
2.

11 3 14 20

_1513_ f CEmept Ty
3 2 4" 3° 7

20 3 14 11
a. 7 4" 3 2

Correct Answer :-



11 14 3 20
2’77374’ 7

»

15) Let £ R — R be defined as f(x) =(x*) /3. Find fof /
AT ST £ R > R & £(x) =(x*) /2 & &7 & aRenfiag B smar 81 fof 7@ Hifaw

16}:9
4 *

Correct Answer :-

16) The value of 9p? + 49¢? — 42pg when p=15andg =3 is: /
9p? + 49g% — 42pg ST AT Id5T, Adp = 15 3HRg =381

1. 556

2. 646

3. 586

4. 576

Correct Answer :-

. 576
17) : : 3 3 : .
The decimal expansion of rational number —_—, will terminate after how many places of
decimals? /
i 73 4 2
oiET gET s &I A YER, cAHdal & fhdel TUET & dig GHCT gIan?
1.7
2.5
3.6
4.4

Correct Answer :-

Topic:- General Aptitude

1)



In a certain code language ‘ne ri so’ means ‘good rain day’, ‘si ne po’ means ‘day is wonderful’ and ‘ri jo’ means
‘good bye’. Which of the following means ‘rainy’ in that code ? /

Wﬁf&aﬁ‘s UTST H, “ne ri so’ BT 3 'good rain day' %, 'si ne po' BT Gl'zf% 'day is wonderful' 3R ri jo' I
31 'go0d bye' §1 @ I B8 HTWT A g & | Tt 314 'rainy' 82

Correct Answer :-
e SO

2) In a certain code, 'MTOF"' is written as 'NUPG' and 'EBUF" is written as '"FCVG'. How will be 'AITF' be
written in that code? /

TP Af3a Fe ®, 'MTOF' B 'NUPG' ¥ FU H 3R 'EBUF' &) 'FCVG' & ¥U A forar Tar 81 39 His A
'AITF' @1 &9 forar smemm?

1. BJUG
2. HOLE
3. NAVY
4. BACK

Correct Answer :-

« BJUG

3) In a single throw of a dice, what is the probability of getting a number greater than 3? /

Ui &) T IR b UR, 3 A TSI BT UTWd B4 &1 &1 UTRIPpdT 82

[SS R W e = | =

b | =

4.

Correct Answer :-

4) In a lottery, there are 7 prizes and 21 blanks. If a lottery is drawn at random, then what is the probability of
getting a prize? /



TP dicd H, 7 REBR 3R 21 R WA 81 afe arefss &0 8 te dlesdt Aarelt 9Tl 8, 9 RReR urad g1
3t WIRwdT AT 87

wh | k2

La |

w

4, 10

Correct Answer :-

5) In an examination in which full marks were 700, A gets 20% more than B, B gets 20% more than C, and C gets
15% less than D. If A got 576 marks, then what percentage of full marks did D get? /

T Tte o forad gut 3id 700 A, A B B T 20% 3P YT 814 &, B B C A 20% 3ifUF Urad g1d §, 3R €
DI D 15% FH UTE BId § | afe A B 576 3P U I &, a1 D B gut 3w o1 fara= ufrra wre giar 82

1. 67.22%
2. 68.22%
3.65.22%
4. 66.22%

Correct Answer :-

e 67.22%

6) How many kgs of wheat costing Rs. 8 per kg must be mixed with 40 kg of rice costing Rs. 5.40 per kg, so that
20% gain may be obtained by selling the mixture at Rs. 7.20 per kg? /

8 ¥UT yfd frat &t anTa a1t fha featmd g ot 5.40 ufa feauma anTa arat araa & 40 feeams & Ty
faf3ra fvan s anfee, arfes frgor ot 7.20 wfa fvat a9 W 20% &1 a4 v fan s aa?

1. 14kg / 14 fourm
2. 16kg / 16 fobu
3. 10kg / 10 fopam
4. 12kg / 12 T

Correct Answer :-

. 12kg/ 12

7) The average age of 32 boys of a class is equal to 15 years. When the age of the class teacher is included the
average becomes 16 years. Find the age of the class teacher. /



T DT D 32 ASDHI B 3RId 3TY 15 94 | 9 FATH SR B 1Y A BT S1edt B, a1 3 16 99 31 SIram
2| TR TR B g T B

1. 50 years / 50 CL
2. 45 years / 45 CL
3. 43 years / 43 CL
4. 48 years / 48 G

Correct Answer :-

o 48 years/48 ¥

8) The average weight of 5 men is increased by 4 kg. If one of them who weigh 121 kg is replaced by another man,
then what is the weight of the new man? /

5 ToUl BT 3T aoi 4 frarumd 3¢ mar 81 afe 3799 | v, foraet 9w+ 121 fFatum 8, v o safat gy
ufawutia forar sirar 8, @) ¢ safe &1 9o | 82

1. 141 kg / 141 foom
2. 142 kg / 142 T
3. 140 kg / 140 fopar
4.139 kg / 139 foan

Correct Answer :-

. 141kg/ 141 fooum

9) The price of wheat is reduced by 4%. How many kilogram of wheat can now be bought for the money which
was sufficient to buy 48 kg of wheat earlier? /

g Pt DI 4% TS UG TS 8 | UgA ol 17 48 frun A Wtex & o wate <f, sr@ o afr & fraa
a7 W o 9ed 32

1. 45 kg / 45 fopdl
2. 50 kg / 50 fopam
3.55kg /55 fobu

4. 40 kg / 40 TBUT

Correct Answer :-

. 50 kg /50 o

10) Five friends A, B, C, D & E went to college, each one of them reached at different times. If B reached after C & D; A
and E reached before C & D, then who was the last person to reach? /

Ui R A, B, C, D T4 E Pletol TE, ITH A 5 P13 SAT-SE THY U UgdT| IS ¢ 3R p & Uga & 915 B
U1 @ 3R ¢ 3% p F UgE A U A 3R £ UFH oI §, ) UgeA arer @ W i 82

1. A
2.D

3.C



4.B

Correct Answer :-

- B

11) How many such letters are there in the word 'BREAK'each of which is as far away from the beginning in the word
as when they are arranged alphabetically within them? /

IMeg 'BREAK' H TH fha+ 31&R &, Siifdr qreq SRy & IaA & gR 8 fora=n g7 3 avl-aran & swargar
AT HIA W B2

1.2
2.3
3.4

4.1

Correct Answer :-

12) The total of the ages of Kiran, Shantanu and Saransh is 93 years. Ten years ago, the respective
ratio of their ages was 2:3:4. What is the present age of Saransh? /

fpvor, i SR AR 3t Hot 3g 93 94 31 5 a9 Yd, IAPT 3TY BT HHT: YT 2:3:4 ATI A ARI Bt
AT T T 2

1. 32 years/ 32 G
2.34 years/34aﬁ
3.24 years/24<_:|'5f
4. 38 years /38 ¥

Correct Answer :-

e 38vyears/38 ¥

13) The respective ratio between the present ages of Rani and Moni is 6:7. If Moni is 4 years older
than Rani, then what will be the respective ratio of the ages of Rani and Moni after 4 years? /

T SR AT Y adur oy & it wHRT: ST 6:7 81 afe Wi Y oy, Tt A 4 af st 8, A4 af are
T AR A B SR BT HHRT: SUT FIT FNIN

1.4:3
2.7:8
3.34
4.3:5

Correct Answer :-

. 7:8



14) If nps:= 60, then find n? /
Il'ﬁ' np;=60, 99 n FAld ﬁ‘?
1.5
2.8
3.6

4.7

Correct Answer :-

15) Evaluate: 50p; /
HedTeha &L S0p;

1. 117500

2.116700

3. 115700

4. 117600

Correct Answer :-

« 117600

Topic:- General Computer

1) The action ‘Ctrl+S’ performs operation in the MS Word 2007. /
THTH TS 2007 H, TR 'Ctrl + §' H1 HATA Bl g

1. Save / ¥4

2. None of the above / SURIGd H ﬁ_ic '_‘%T

3. Exit / Ufee

4. Copy / CaL]

Correct Answer :-

. Save/dd

2) Which of the following applications does not belong to Microsoft office? /

frafafEa § & 919 91 Teithe ares e by § Tafta 78 22

1. Microsoft Skype / TSI Wh13Y

2. Microsoft Word / AT NI S

3. Microsoft PowerPoint / mﬁi’ uTaTlms‘c'
4. Microsoft Excel /m qa%a

Correct Answer :-



« Microsoft Skype / ATSHINITUC Wh1gT

3) In MS Word 2010, the shortcut key used to bold a character is: /

THTH TS 2010 H, TP HaeX Pl 1es HA & 1T IuaT & arft S aredt Wiéape ot 8:
1. Ctrl+B

2. Ctrl+A

3. Ctrl+F

4. Cul+D

Correct Answer :-

o Ctrl+B

4) CDs and Hard disks are commonly called as ./
11 wd 718 fove & are: ST a1 8
1. Hardcopy / as‘aﬁtﬁ

2. Softcopy / el

3. Output devices / 3T3cYcC ISCIER

4. Secondary storage devices / Hh S TR %Tﬂ%ﬁ

Correct Answer :-

» Secondary storage devices / qdex] IR %dli'{-l
5) Who is known as the ‘Father of Computers’? /
"HER F TG S U A fHA T o 32

1. Ted Nelson / €8 e

2. Herman Hollerith / 8¥HA ‘éﬁﬁu

3. Charles Babbage / T da

4. Blaise Pascal / &S U d

Correct Answer :-

 Charles Babbage / EISKLE|

6) In MS Word, what is the shortcut key to make superscript? /
Y 98 #, YREPE 71 & Ry widwe ST am

1. Shift+"

2. Ctrl+Shift+"

3. Ctrl+=

4. Ctrl+Shift++

Correct Answer :-



o Ctrl+Shift++

7) In MS Excel 2010, spreadsheet is used for ./

THU TR 2010 ¥, Wil w13uait & R frarsmar g1
1. Cash flow only / Had AHal UdTg (%QTWBD

2. Auditing only / Had <@ TRI&f (3Hifefem)

3. Financial forecasting only / $Had faxi qjﬂﬂtﬂq

4. All of the above / SURTGT TH

Correct Answer :-

« All of the above / SURTad Ht

8) In MS Excel 2010, which of the following methods is used to minimize the Ribbon? /

%nw@@Hzomﬁ,ﬁaqaﬁm(hﬁnﬁmmﬁ%mmﬂﬁmﬁmﬁmm%mm

1. Right-click anywhere on the Ribbon and then click Minimize the Ribbon only /
Hadt e R pa! i Tge-fFaed $ 3R R friarsd ¢ Req w fode o
2. Press Ctrl+F1 only /
Had Ctrl+F1 GaTY
3. All of the above /
IRI FHI

4. Double-click on any Ribbon tab only /

Fad fH) +ff e 29 W sad-faas &

Correct Answer :-

o All of the above /

IWRIad g4t

9) In MS Excel 2010, which of the following functions is performed by the Page Layout? /

THEY T 2010 ¥, oo § 9 919 91 bawe 09 d3nSe gR1 faar srar 22
1. To adjust page size and breaks only / Hdd UST T3Sl Td SR &1 FHMAIS B o forg
2. To adjust page margins only / Had US IO P THRNT HRA & forg

3. To adjust page orientation only / Hdd Usl HIRTCRH BT GHRATT B & ferg

4. All of the above / SURTRT FHt

Correct Answer :-

« All of the above / STRIGd Tt

10) In MS Excel 2010, what happens when ‘Ctrl+A’ is pressed? /



THTH T 2010 H, §T9 'Ctrl + A’ D1 GRIT SITdT @ oY 1 g1 82
1. Nothing will get select / P& 1t Adae qﬁ@?ﬂ%l

2. It selects only the row / Q_E'Wﬁﬁmwgl

3. It selects only the column / g A HITH Bl VAT B %I

4. It selects the entire worksheet / g @ THINC DI e Hdl % |

Correct Answer :-

« It selects the entire worksheet / Ug tBQf ghefie o Yaae HRAT 3|

11) In MS Excel 2007, the point where one contiguous sheet of data is broken into separate pages is called a
/

mn?azomﬁ,agﬁgaﬁéaaﬁwﬁmaﬂzﬁW-mﬂﬁﬁwﬁmm%,
Pedldizl

1. All of the above / SURIST FHT

2. Line break only / Had NIEG! Sb

3. Page break preview only / $ad US s ﬁlq
4. Switch only / Fad g

Correct Answer :-

« Page break preview only / dd USl sieb g

12) In MS Excel 2010, the shortcut key to apply outline border of the selected cell is: /
THUH THA 2010 H, T A6 TR ATSTATS 18X 911 & g Aicdpe ot 8

1. Ctrl+Shift+O

2. Ctrl+Atl+&

3. Ctrl+Shift+&

4. Ctrl+Atl+O

Correct Answer :-
o Ctrl+Shift+&

13) In MS Word 2007, what is the use of Eraser in the Draw Borders option? /
THTH T3 2007 H, IT AT TR A SR BT T SUUNT gl 82

1. Erase rows and columns / ﬁ GﬁT Hiaq Ehlf B?Ief % i%nz

2. Erase rows only / W @[ Eblf EE'I%T % ﬁm

3. Erase entire page / U3' a\_ﬂ Eﬁ E?Ief % %Q

4. Erase columns only / W H‘TT@H ﬁ E’ETaf é? 1%‘1'&‘

Correct Answer :-

o FErase rows and columns / ﬁ ?rﬁ? Hiaq B ecC 1% ﬁ"I'Q



14) In MS Word 2007, how many minimum numbers of rows and columns can be created? /
THTY T3 2007 H, Uil @) T WU (@iad) @1 faeit grad S= 9913 o Il 872
1.1and2/13d2
2.1and1/1Td 1
3.2and2/2Td2
4.2and1/2Td 1

Correct Answer :-

e land1/1Td 1

15) RAMis a ./

bz her I

1. Hardware / E'léatﬁ

2. Memory / R

3. Storage device / @wm
4. Software / QAR

Correct Answer :-

» Memory / R

16) We can actually use Excel 2007 as a basic application. /

THII A TR 2007 P afd  UfRp=H & © U H STIT H IHhd 3 |
1. Database / SCTSH

2. Internet / 32

3. Multimedia / AeSTHITSTT

4,108 / 3T

Correct Answer :-

« Database / 319

17) CANCELLED

In MS Excel 2010, options to change program settings can be found in: /
THYH T 2010 F, WTH A& sga- 31 [THer s98 a1 o1 9T o:
1. Insert tab /37\‘4?? %a

2. Home tab / _éﬁ-q %a

3. Page layout tab / U9 d3f3e ¢F

4. File tab / BTSA CF

Correct Answer :-



« File tab/ T3d ¢d



